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Question Number : 1 Question Id : 8247246161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Children are unable to learn optimally when they are undernourished or unwell.

Reason (R) All domains of development are inter-related-physical development has an impact on

cognitive development.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 1 Question Id : 8247246161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247246162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which principle of development does this illustrate:

The child learns to stand before she can walk and babble before she talks?
Options :

1. Development is sequential

2. Development proceeds from head to toe

3. Development is disorderly

4. Development progresses from centre to the extremities.

Question Number : 2 Question Id : 8247246162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247246163 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Children learn the knowledge, skills, values and customs of the society only through

formal agencies.

Reason (R) Socialization is a simple and linear process that takes place in a well-planned manner.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 3 Question Id : 8247246163 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247246164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jean Piaget's constructivism proposes that children progress through four stages of cognitive

development primarily-

Options :

1. by acting upon the environment.

2. through social interactions with more knowledgeable others.
3. by imitation of others.

4. through anticipation of rewards.

Question Number : 4 Question Id : 8247246164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 8247246165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, at which stage of cognitive development can children 'operate on

operations' and perform hypothetico-deductive thinking?
Options :

1. Sensori-motor Stage

2. Pre-operational Stage

3. Concrete Operational Stage

4. Formal Operational Stage

Question Number : 5 Question Id : 8247246165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247246166 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is very important in Lev Vygotsky's theory for cognitive development of children.
Options :
1. Cultural tools
2. Maturation
3. Punishment

4. Adaptation

Question Number : 6 Question Id : 8247246166 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247246167 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One of the major differences in the theories of Jean Piaget and Lev Vygotsky is



Options :

1. Piaget emphasized on the role of language in cognitive development.
2. Vygotsky gave primary importance to hereditary capacities in learning.
3. Vygotsky emphasized the role of culture in cognitive development.

4. Piaget gave importance to what the child can do on her own as well as what she can do with

support.

Question Number : 7 Question Id : 8247246167 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247246168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Carol Gilligan critiqued Lawrence Kohlberg's theory of moral development by arguing that men

have morality of while women have morality of
Options:
1. justice; care

2. care; justice



3. goodness; sacrifice

4. sacrifice; goodness

Question Number : 8 Question Id : 8247246168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247246169 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of the type of intelligence and the end state

possibilities as per the theory of Howard Gardner?

Options :

1. Intelligence-Linguistic, End State Possibility- Accountant

2. Intelligence-Spatial, End State Possibility- Architect

3. Intelligence- Bodily kinesthetic, End State Possibility- Singer

4. Intelligence-Naturalistic, kinesthetic-Teacher



Question Number : 9 Question Id : 8247246169 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

EERIE %‘Ea?:g% e %’\:ng\ S er ﬁ%ﬁ?ﬁ#@gkmw o o s R e F
T )

Options :

: %WW’ _ VTS, 379 Ty ST TTEAT — =G

, g%:ﬁﬁl'ﬂthli—ﬁlﬁm* -t AT #@Iddl—ﬂlﬁ-ﬂjﬁﬁlt

5 ?fnr%a-‘rm _ 9TfIeR Tig-SaeATeaeT, -t ST FHTET — T

. gr%\ﬁﬁmcmt—m:p?%m.ﬂﬁ:&%m fe aﬁgultﬁd#wq-ﬂ—%ﬁiﬁ

Question Number : 10 Question Id : 8247246170 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 considers multilingualism
Options:

1. as a hindrance in children's learning.

2. as an asset in the classrooms.

3. as a unnecessary complication in teaching-learning process.

4. as a barrier to inclusive education.

Question Number : 10 Question Id : 8247246170 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247246171 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In child-centered education, assessment

Options :

1. is undertaken through few periodic examinations.
2. takes place through written objective type tests.
3. does not take place at all.

4. is considered an integral part in the process of learning.

Question Number : 11 Question Id : 8247246171 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247246172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does National Education Policy 2020 propose for retention of students from socio-

economically disadvantaged groups?

Options :

1. Rote learning

2. Standardisation of curriculum and assessment
3. Performance-oriented testing

4. Relatable and meaningful curriculum

Question Number : 12 Question Id : 8247246172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247246173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In several middle school classrooms it is observed that boys often raise their hands to answer

more than girls and tend to dominate classroom discussions. In such context, the teacher should
Options :

1. accept that boys are more intelligent than girls.

2. accept that girls do not have the potential to study in middle class.

3. analyze how gender differences are inborn and cannot be modified.

4. analyze the context of the children and her own pedagogy.

Question Number : 13 Question Id : 8247246173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247246174 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following defines a progressive classrooms?
Options :

1. Learning for exams

2. Focus on experiential learning

3. Decontextualized curriculum

4. Teacher centric pedagogy

Question Number : 14 Question Id : 8247246174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247246175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions tests higher-order thinking skills such as analysis and evaluation?
Options:

1. What differences do you find between private and public health services in your area and why?



2. What does the Civil Rights Act of 1964 state?
3. How many states are there in India?

4. How are the members of Legislative Assembly elected?

Question Number : 15 Question Id : 8247246175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247246176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

With respect to inclusion of students with disabilities in regular schools, which of the following

provision is against the Rights of persons with disabilities Act (2016)?
Options :

1. Extra time for completion of examination paper

2. Facility of scribe to meet the students' needs

3. Compulsory second and third language courses

4. Reasonable accommodation as per individual's needs



Question Number : 16 Question Id : 8247246176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247246177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To address the diverse learning needs of the students, which of the following is a barrier?
Options :

1. Engagement in the activities in multiple ways

2. Expression of opinion in multiple ways

3. Labeling and ranking of students in multiple ways

4. Representation of information in multiple ways

Question Number : 17 Question Id : 8247246177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247246178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following learning disability directly affects communication skills and comprehension
abilities?

Options :

1. Dyscalculia

2. Dysgraphia

3. Dysphoria

4. Dysphasia

Question Number : 18 Question Id : 8247246178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247246179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To unsure successful inclusion of students with Dysgraphia, it is important to:
Options :

1. allow use of audio recorder or a laptop in class

2. extensively use written tests for assessment

3. make it compulsory to write on plain/unruled sheets

4. set fixed timeline to finish the given work

Question Number : 19 Question Id : 8247246179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247246180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic of student with 'creativity'?
Options :

1. Their problem-solving skills are of higher order

2. They can solve problems through divergent ways

3. They have low sense of curiosity to learn new topics

4. They often come up with novel ideas and innovations

Question Number : 20 Question Id : 8247246180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247246181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teachers in a middle grade classroom should:



Options :

1. be open to make adaptations as per learners' needs
2. focus their attention majorly on high achievers
3.ignore learner diversity in the classroom

4. use one standardized mode of assessment only

Question Number : 21 Question Id : 8247246181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247246182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): While teaching a concept, a teacher should encourage her students to brainstorm

the instances and examples of contrast.

Reason (R) Non-examples don't play any role in understanding of a concept.

Choose the correct option.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 22 Question Id : 8247246182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247246183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Few students in a class were not able to achieve the individual learning goals set for them. In such

a scenario, a teacher should:
Options:

1. consider their failure as dishonourable and shameful.



2. expel these students and recommend them to a special school.
3. keep very low expectations of success from them in future endeavours.

4. view failure as a part of the developmental process of learning.

Question Number : 23 Question Id : 8247246183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 8247246184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher intends to assess declarative knowledge among her students. Which of the following

qguestion is appropriate for this purpose?
Options :

1. How to bake a cake?

2. How to balance a bicycle on a rough terrain?
3. What is the formula for calculating 'volume'?

4. What is the procedure of soil preparation for wheat plantation?



Question Number : 24 Question Id : 8247246184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247246185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher intends to facilitate the development of metacognition among her students. Which of

the following skills won't be helpful for this purpose?
Options :

1. Evaluating

2. Monitoring

3. Planning

4. Rote-memorisation

Question Number : 25 Question Id : 8247246185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247246186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Constructivist approach considers learning as:
Options :

1. disorganised and unilateral

2. idiosyncratic and disconnected

3. interactive and active

4. passive and dependent

Question Number : 26 Question Id : 8247246186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247246187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following step is likely to hinder problem-solving skills among students?
Options :

1. Activating the schema to comprehend the problem

2. Focusing attention on relevant information about problem

3. Getting stuck on one fixed way of representing a problem

4. Identifying the possible solutions of the problem

Question Number : 27 Question Id : 8247246187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 8247246188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Contemporary perspectives of cognitive development view misconceptions as:
Options :

1. completely insignifcant and an obstacle for teaching-learning process.

2. Higher-order metacognitive skills found typically in 'gifted' students.

3. Naive ideas and understanding having their roots in ones' past experiences.

4. Neurological deficits and identifying characteristics of Dyslexia.

Question Number : 28 Question Id : 8247246188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247246189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Students with performance-avoidance goals focus on
Options:

1. enjoyment of activity

2. fear of failing

3. hope of success

4. sense of pride

Question Number : 29 Question Id : 8247246189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TEIH-UNER S5 TWa- a1t faenteat o1 o1 77 5 & fore W fed wmar 22

Options :

1 TSI =T 2Tg

5 TR B FH

3, THEAAT Tl AT

4. T T 9T

Question Number : 30 Question Id : 8247246190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following set of attributions on success or failure on a task is likely to cause increase

in students' motivation and attempts to engage in similar tasks in the future?
Options :

1. External, Non-controllable

2. External, Stable

3. Internal, Stable



4. Internal, Controllable

Question Number : 30 Question Id : 8247246190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Torelt T 1 e 31 (e T FTen B -6 SATA0 NI § e #1 T S gee e §

Options :

| ST, Tt

2. e Ao T

3, AT e, feer

4, AT, THEA

Mathematics and Science

Section Id : 824724177
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Sub-Section Number : 1



Sub-Section Id : 824724337

Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8247246191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5\~51°
The value of [(— —) 1 is
6

Options :
£y 15

(=3

Question Number : 31 Question Id : 8247246191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

()7 ==t

Options :

@)



Question Number : 32 Question Id : 8247246192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The sum of the HCF and LCM of 12, 15 and 45 is

Options :
1. 183

> 177

Question Number : 32 Question Id : 8247246192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
12, 15 37 45 % HCF 3 LCM S T E -

Options :
1. 183



2 177

4. 87

Question Number : 33 Question Id : 8247246193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The unit digit Gf{233 + 3'}’3} IS

Options:
1.3

Question Number : 33 Question Id : 8247246193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
23} 3P ) FFEE EE e
Options:

1.3



Question Number : 34 Question Id : 8247246194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1 3
Reciprocal ofz_g o Eis

Options :
55

Question Number : 34 Question Id : 8247246194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i _ 3 5
2— = —HIAAFHETE
3 5 2

Options:
—35

1. 9



Question Number : 35 Question Id : 8247246195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which least number should be subtracted from 5935 to make it a perfect square?
Options :

1.4

[

Question Number : 35 Question Id : 8247246195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5935 9 § -9t EREERIE] 2EIF] cnul%agwujaﬁmm'?

Options :
1. 4



Question Number : 36 Question Id : 8247246196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
5 25
12X =22 then the value of 3}-‘2 +2y is
2 4
Options:
3
21 =

1. 4

3
5

21

23

Question Number : 36 Question Id : 8247246196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5 25 =, =) =
'ﬂ%?}r ~ & ?, ar 3y +2yHHAAT

Options :
3

2=
1. A



N

I3
(]
e | w

1
2=
3. 4
1

.4 T
4, 4

Question Number : 37 Question Id : 8247246197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The compound interest on a sum of money 320000 for 1 i years at the rate of S% % per annum. , compounded
annually, is (approx.)

Options :

1. X2161

5 %1863
3 %2125

4. 32550

Question Number : 37 Question Id : 8247246197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

= /- 4 ; _
220000 F IR 1 ; TH 85 ‘?rbaﬁﬁﬁﬂ‘ﬁwci% &S T o ?’ ST ST AT FaS

ik

Options:
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Question Number : 38 Question Id : 8247246198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2 y?+ 2% 22 +x? and 4y + 4z + 42x is equal to

The sum of x2 +y
Options :

e |
(x+y+z)
dx+y+z)
Ax-tytE)

4x+= +2)°
(a 7 z)

Question Number : 38 Question Id : 8247246198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
_@+y%y2+f,f+12ﬁﬁ%y—4ﬁ44aﬂﬂﬁﬂamﬂa:
Options :

|
( @+y+z)



Hx+y+z)
Hxty-tz)

4x+= +2)
et z)

Question Number : 39 Question Id : 8247246199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(x + y)2x — 3y +z) — (2x — 3y)z is equal to
Options :

¥, )
2T —xy -3y +4yz—zx
2x" —xy +3y" +4zx —yz
2 2
2T —xy =3y —4yz + zx

£, 2
X" +xy—3y +4yz+zx

Question Number : 39 Question Id : 8247246199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(x +y)(2x -3y +2z)—(2x - 3y)z TE T
Options :

1 X —xy-—3y +4yz-zx



2 2

2" —xy+ 3y +4zx —yz
2 2

2" —xy -3y —4yz+zx

2 2
2x"+xy—3y +4yz+ zx

Question Number : 40 Question Id : 8247246200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If 3x™ — 5x + 7 is a binomial, then the value(s) of m can be

Options :

1 only2
2. land 0
3 only !

4, 2and 0

Question Number : 40 Question Id : 8247246200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IfE 3xM _ 5y + 7 U5 (ZU2 2, 91 m &1 (F) 99 2 9T (§d) 2/ &
Options :

. A2



Question Number : 41 Question Id : 8247246201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sum of the complement and supplement of an angle x is 140° . Then, the value of 2x— 10° is
Options :

1.130°

5 140°

3 110°

4 120°

Question Number : 41 Question Id : 8247246201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%&ﬁﬁﬁx%ﬂﬁaﬁﬂiu&m IO T AT 140 © 2 qd, 2x — 10° a2
Options:
1.130°

5 140°



3 110°

4 120°

Question Number : 42 Question Id : 8247246202 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In triangles ABC and PQR, BC =3 cm, AC=3.5em, PQ=3.5cm, £C=48 ® QR=3cmand LQ=48 i
Then, which of the following is true?

Options:

, AABC= A PQR

, AABC= A RPQ

, AABC= A PRQ

, AABCZ A QPR

Question Number : 42 Question Id : 8247246202 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
PrTeT ABC T PQR ¥, BC =3 ¢m, AC=3.5¢m, PQ=3.5cm, £ C=48° ,QR=3 em ¥ £ Q=48°
5 - i 3
2| 7, Freeferts § 9 -0 e T )
Options :

, AABC= A PQR

, AABC2 A RPQ



, AABC= A PRQ

, AABC= A QPR

Question Number : 43 Question Id : 8247246203 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IfE, F and V are respectively the number of edges, faces and vertices of a square pyramid, then the value of 2E - F +
Vis

Options :

1. 21

i |

Question Number : 43 Question Id : 8247246203 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

s el ant o eI et T o, o, e ot St ot S 379 E, F &V E A1 2E—F + 2V A
THE:

Options :

7. 21

gip



4. 18

Question Number : 44 Question Id : 8247246204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Angles of a quadrilateral are inthe ratio 3 33 4, Then, 40 more than the greatest angle of the quadilateral

Is equal o
Options :
1 180°

5 200°
3 140°
4 160°

Question Number : 44 Question Id : 8247246204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o TR S AW 3 5132 4% ST 3 ¢ 79, T TS o W A5 A H 40 SR A L
Options :

1. 180°

5 200°

3 140°



4 160°

Question Number : 45 Question Id : 8247246205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ina triangle ABC, D is the mid-point of side BC such that AD=CD. If 2ZB=37°, then £C 1s equal to

Options :

| &5

5 37°

Question Number : 45 Question Id : 8247246205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fowf e ABC H, D YT BCF Ay WUAm 2 W AD = (DRI A £ B=37" 3,7 £ (ot
Options :

| &5

2, BF°



Question Number : 46 Question Id : 8247246206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Area of triangle of sides 24em, 25cm and 7em is equal to the area of a rectangle of length 14cm. Then, perimeter of the
rectangle is

Options :
1. 20 cm
2 18 cm

3. 36 cm

4. 40 cm

Question Number : 46 Question Id : 8247246206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

LS i 24 cm, 25 cm M7 em WW%‘&HH BT 14 om mmw TR F 995 F §aE [CAED)
WWW%:

Options :
1. 20 cm
2 18 cm

3. 36 cm

4. 40 cm

Question Number : 47 Question Id : 8247246207 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The area of a circular field is 616m?. Then, cost of fencing the field at the rate of 25 per mefre is (Take 7 - 2?—2 )

Options :
1. 2660

Question Number : 47 Question Id : 8247246207 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T e 1 A 16 21 7, WA W& e A A g g e e (v - 2 e 2

Options :
1. T 660

2. 3440

4. 2420

Question Number : 48 Question Id : 8247246208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The perimeter of the base of a right circular cylinder is 44 em and its height is 8 cm. Then, volume of the cylinder
s
22
(Take T == )
7
Options :

1 1212 em?
5 1232 cm’
3 1412 cm’

4 1432 cm’

Question Number : 48 Question Id : 8247246208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Fort 7 e o1 AT 1 T 4 o & 7 S0 4T 8 o 21 78, 38 e 1 970 (m = =

i)
Options :
1 1212 cm’
5 1232 cm’

3 1412 cm’

4 1432 cm’

Question Number : 49 Question Id : 8247246209 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Let x, y and z be the mode, median and range of the data given below:
20, 11, 14,8, 7, 18.:20.27. 23, 53,42 15

What is the value of (2x + vy —2z)?

Options:

1. 11

Question Number : 49 Question Id : 8247246209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR TS % g1 20, 1, 14,8, 7, 18, 20, 27, 23, 33,42, 15 3 T, FIVAGH S0 Wi 3%, y & 2
(Q+y-7) FARFE

Options:
7. 11

2. 13

3 14

Question Number : 50 Question Id : 8247246210 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A number is selected at random from the numbers 29, 30, 31, ........, 47, 48. What is the probability that the
selected number is not a prime number
Options:
2

S NS

Question Number : 50 Question Id : 8247246210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 29,30, 31,.., 47, 48 7 8 T WA TG 0 1 1 T 2] e 0 et o 1 o

Options :



Question Number : 51 Question Id : 8247246211 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It is observed that learners easily grasp the identity (a+b)%, while they find it difficult to use the identity (atb)’. What
among the following may be the most appropriate explanation for this?

Options:

1. Leaners do not pay attention in the class

2 The identity {a—l:)]'3 is more difficult to arrive at

3. They have not grasped the concept of multiplication of algebraic expressions

4. They find the identity (a+b)? as less useful

Question Number : 51 Question Id : 8247246211 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

W%@W%ﬁmﬁﬁwéﬁmmﬁﬂ(a + b)? ﬁﬂﬁﬂﬁﬁ(a + b)’ ﬁgﬂdlﬁ;ﬂid! TR
G T 990 8 7T 2| TR e 3 S AT ge B § 8 e 2

Options :

| Teremmeff e F sam e 2
, TAGHEHT (a + b)3 TR HIA & % FHAOT I IH TN T2l B AT

; 3 SFSITOT SeSTeRT 1 TUM 2 AT ST oA e et ur &



, THEEEH (2 + b)? N FH TN T T

Question Number : 52 Question Id : 8247246212 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is most appropriate for an axiom?

Options :

1. These are statements about algebraic identities
5 These are mathematical truths which cannot be proved or disproved
3 Axioms are propositions similar to theorem

4 Axioms are only definitions

Question Number : 52 Question Id : 8247246212 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁﬁq”ﬁﬁ (Axiom) %ﬂ’%ﬂﬁmﬁ'ﬁﬁﬂ‘#ﬂﬁ?—mﬁaﬁﬁﬁﬁ%“
Options :

| AT e el Fara TS | e e FY A

AT TIOTe 2% U e e € o g, 31 11, T fohem 1 ot 2

3 ﬁﬁﬂ!ﬁﬁm&?%ﬁuaq%ﬂmﬁ THE



. AT e afeaTeT e

Question Number : 53 Question Id : 8247246213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Atteacher tells her students to draw a few triangles using a ruler and pencil on a sheet of paper. She tells them to find the
sum of their angles by measuring each angle with a protractor and note it down. The students realize that the sum of

angles is close to 180° or 180° in each case. This is an example of which approach of teaching?
Options:

1. Generalization

5 Teacher-centric approach
3. Deductive approach

4. Inductive approach

Question Number : 53 Question Id : 8247246213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FrtieeT T 1 TS T T () A 1 01 T 6 97 PRt e 01 e ) ot 4 9 1 (70
¥ P o 10T 1 70 37, L S 5 0 1 2T 310 508 91 e ) 71 2 W o 2% PR o 600 3 4
T 180° T 180° ) 78 T T e e 2 7

Options :

1 WO T &t
), ToTer e fare

3. TR Tt



4, ATTHATER fafer

Question Number : 54 Question Id : 8247246214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following describes a concept map in reference to mathematical teaching?

Options:

1. Itis a diagramatic representation of relationship between various concepts and sub-concepts
5 It is a map used to find directions
3 It is a scheme of teaching to be followed strictly

4. 1t is a vague description of a lesson plan

Question Number : 54 Question Id : 8247246214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ﬁﬂﬁ%ﬁﬁ@ﬁ?ﬁ%ﬂﬁﬁﬁ@%ﬁﬁﬁﬁﬁ?ﬁﬂ{mkwn-ql-ﬂfﬂ)meitﬂd FATE
Options :

1 T TR STaemomeTy 3TR SU- TRt & S HaeT T SR e g

2

3 TT U AT YT 3l ST STl (218907 ST &0 &

4. T= Torell UTS ATSHT T 308 IUH 2



Question Number : 55 Question Id : 8247246215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding children coming to school as first generation learners from
background of daily wagers?

Options:

1. They need not learn higher mathematics as they may never need it
5 They may not be able to learn middle school math as they don’t have the skills for it
3 The only way to teach them mathematics is drill them into learning/memorizing multiplication tables and formulae

4. They may have rich understanding and mathematical sklls of computation and conversion from their Lived experiences

Question Number : 55 Question Id : 8247246215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TITore % Hed § e o o weet Ui o Tt o femm feriiaa B & -9 e 9 2

Options :

| 7% T T TG WG o ATV Ta] FF 375 I FH] A Ah T

, 3 TS Tae! TV Wi = W4 T8 S F19 37 UTH 36 (40, Sivre el @
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9 W 0 ST S TR 8 et S 61 3 § TV 61 s e, e B
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Question Number : 56 Question Id : 8247246216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be the best explanation of children developing a fear of mathematics?

Options :

1 Children fear mathematics if their IQ is low

Since mathematics is an abstract discipline, it is natural for children to have difficulties in understanding and therefore
o all students will develop a fear of it

It is the most objective form of knowledge that requires rigour, failing which children develop an aversion for the
3. Subject

Teachers play a significant role in invoking interest about mathematics in children, and conversely they may also
4. contribute to the fear by penalizing students for committing errors

Question Number : 56 Question Id : 8247246216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
=T H IO % i W i 2w T teiad 5 | A Fatd FO s e

Options :

1 = 5 IO T 6 T AT & T T -0 (1Q) F A 2

1% A T mj%w%m%ﬁw] 2| . 5= 1 0 A ST BT T 2 T e el
. T R T 6T 9 e 2
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Question Number : 57 Question Id : 8247246217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes mathematics lab for middle school mathematics teaching and learning?

Options :

It is a space for learning mathematics through play way activities and discovery methods with the help of different types
1. of multisensory aids, objects and comnmnity resources

o Itis a laboratory for conducting mathematical experiments
3 Aroom for keeping teaching aids and charts

4. Aspace where children can develop mathematical ideas on their own without any facilitation of the teacher

Question Number : 57 Question Id : 8247246217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FAffes o & FH-11 Ao % 1 70 FIRTST 1 A= 90 2
Options :

T T T T A R, O o e, @ T S WA 3 e & 9
1 T TSR § TR o o T 2
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5 T2 TUTE T ST ST T ek TATSTTAT 2
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Question Number : 58 Question Id : 8247246218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following objects can be most useful for infroducing geometrical ideas to elementary school children?

Options :

1 Tangram

2. Rubiks cube
3. Dienes blocks

4. Hanoi Towers model

Question Number : 58 Question Id : 8247246218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ﬁﬂ%ﬁﬁaﬁﬁﬁﬁﬁ?@ﬂmﬁﬁm%%ﬂﬁﬁﬁwﬁﬂh FaRITT 37 Wit 24 4 fovegent & e
Options:
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Question Number : 59 Question Id : 8247246219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to NCF (2005), which of the following may not necessarily be the goal of teaching mathematics at the upper
primary level?

Options :

1. Mathematization of the thought process of learner
- Introduction and building base to higher conceptualization in mathematics
3 Building interlinkages between members, space and operations

4 Helping bright students to pass competitive exams

Question Number : 59 Question Id : 8247246219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T = e (2005)%%,%@&%%ﬂ3ﬁ?ﬂ&5ﬁﬂwﬁﬁ%ﬁﬂ A
e

Options :

1 Toremeft <t Tomm-mTeRaT A TR

, TV o) T 61 S et ¥ SOl & A 1 Ui STt U 373 o ST &

, T, TR S TR o W ST F S FA
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Question Number : 60 Question Id : 8247246220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An elementary school mathematics teacher decides to pose few questions based on the following table:

Name of the place Temperature (°C)
Auli -10
Srinagar 4
Shimla 3
Ooty 12
Bangaluru 27

a) Which place has the lowest and highest temperature?

b) What is the difference between temperature of Ooty and Bangaluru?

¢) Arrange the places in the increasing order of temperature

d)Is the temperature of Srinagar and Shimla taken together less than the temperature of Shimla?
Which of the following is most appropriate in the context of above situation?

(
(
(
(

Options :

1. It can be used to introduce Data handling to grade V learners.
o It can be used to introduce the concept of Integers to grade VI learners.
3 The question is misleading for students.

4. 1tcan beused as an integrated assessment activity after teaching integers and Data handling.

Question Number : 60 Question Id : 8247246220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 8247246221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements about veins
1. Veins carry Co, rich blood from all parts of the body back to the heart

2. Veins have thick walls

=

3. Veins have valves which allow blood to flow only towards the heart
The correct statement(s) is/are



Options :

1. OnlyA

3 Only B

3. Aand B

4. Aand C

Question Number : 61 Question Id : 8247246221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A Forrsit 3 fae i fa o e o R e
B. I CO, g ¥ 1 IR % el wTTT! & &7ow &ee § o ST 2
C. Tomret &t Tt 7t 2
D. ToTTaTl = UF J7e 21 & S FeR 1 A 557 Fl 3T & TaIed 2 & 7
A IR
Options :
. T A

5, FaAB

3 AITB

4 AJRC

Question Number : 62 Question Id : 8247246222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Select correct statement from the following:

Options :

1. Zinc is more reactive than aluminium.

5 Copper can displace iron from ferrous sulphate solution.

Iron can displace copper from copper sulphate solution but cannot displace aluminium from aluminium sulphate
3. solution.

4 Aluminium cannot displace iron from ferrous sulphate solution.

Question Number : 62 Question Id : 8247246222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 8247246223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Out of eight planets six planets of the solar system rotate on their axis from west to east. The other two which rotate on
their axes from east to west are

Options:

1 Mercury, Uranus
2 Mercury, Neptune
3 Venus, Neptune

4 Venus., Uranus

Question Number : 63 Question Id : 8247246223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 8247246224 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following processes will be hampered in the mouth cavity of a person whose saliva is lacking salivary
amylase?

Options :

1. Conversion of fats into fatty acids
5 Conversion of proteins into amino acids
3. Conversion of starch into sugars

4 Absorption of vitamins

Question Number : 64 Question Id : 8247246224 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 8247246225 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The process of dispersion of light can be seen when light
(a) passes through soap bubbles
(b)falls on the surface of a CD
(c) passes through rain drops
(d) gets focussed on the surface of shinning marble

Options :
1. (@), (b). (c)

5. (b), (), (d)
3. (a), (¢), (d)

4, (@) (b). (d)

Question Number : 65 Question Id : 8247246225 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 8247246226 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the correct statement from the following

Options :

1 Static friction is smaller than the sliding friction.
> Rolling friction is more than the sliding friction.
3, Static friction is smaller than the sliding friction but more than the rolling friction.

4. Sliding friction is more than the rolling friction but less than the static friction.

Question Number : 66 Question Id : 8247246226 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 8247246227 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student wants to change a feeble sound to a loud sound. For this he should increase the
Options :

1 amplitude of sound
5 frequency of sound
3. speed of sound

4. Wavelength of sound

Question Number : 67 Question Id : 8247246227 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 8247246228 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following represents a set of cell organelles found in animal cell?

Options :
1. Cell membrane, cytoplasm, nucleus, vacuole
5 Cell membrane, cell wall, cytoplasm, nucleus

3. Cell membrane, chloroplast, cytoplasm, nucleus

4. Cell membrane, cell wall, cytoplasm, vacuole

Question Number : 68 Question Id : 8247246228 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247246229 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the following statements about ozone:
A. Ozone is formed at higher level of atmosphere by the action of UV rays on oxygen
B. It protects us from the harmful UV radiations which come from the sun.
C. Ozone is not different from oxvgen
D. Breaking down Ozone into oxygen is not considered a chemical change

Options :
1. B.C

Question Number : 69 Question Id : 8247246229 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 8247246230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements about biodiversity:

A. Tt is found in abundance in dense forests

B. It refers to only the fauna found in an area

C. It refers to the total number of individual species found in a given area

D. It refers to the variety of Living organisms (various species of flora and fauna) present in a given area.
The correct statements are

Options :
1. Aand B

2. BandC
3 CandD

4. Aand D

Question Number : 70 Question Id : 8247246230 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 8247246231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents group of three petrochemicals?
Options :

1. Diesel, Kerosene and Rayon
o Petrol, Diesel and Caustic soda
3 Lubricating oil, Polyester. Bitumen

4 Detergents, Lubricating oil, Coal Tar

Question Number : 71 Question Id : 8247246231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 8247246232 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

You have a brick (length L, breadth b and height h). If you keep it on a table such that different faces touch the surface
each time, then in the three different cases, the brick with exert

Options :

1 same thrust and same pressure
o same thrust but different pressure
3, different thrust but different pressure

4. different thrust but same pressure

Question Number : 72 Question Id : 8247246232 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 8247246233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

From the following table choose the group in which part of the stamen and parts of the pistil of a flower are correctly
matched:

No Part of the Stamen | Parts of the Pistil
| | Anther, Filament, Sepal | Ovary, Stigma, Petal
2| Anther, Style, Stigma Ovary, Filament, Stigma
3| Anther, Filament Ovary, Style, Stigma
4 | Anther, Filament Ovary, Petal, Style

Options :
'I.]
2
2, %%
3. 3
4. 4

Question Number : 73 Question Id : 8247246233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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3.3
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Question Number : 74 Question Id : 8247246234 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The inner lining of stomach is protected from hydrochloric acid secreted by gastric glands by
Options :

1 bancreatic juice

o bile juice

3. mucous

4. digestive juices

Question Number : 74 Question Id : 8247246234 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 8247246235 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After digging a grass plant, a student on observing its roots and leaves, notes down his observations as
Options:

1. Fibrous roots and reticulate venation

o Fibrous roots and parallel venation
3. Tap roots and parallel venation

4. Tap roots and reticulate venation

Question Number : 75 Question Id : 8247246235 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 8247246236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the correct statement from the following

Options :
1. Both Sodium and phosphorous are stored in kerosene
5 Both Sodium and phosphorous are stored in water

3. Sodium is stored in kerosene whereas phosphorous is stored in water

4. Sodium is stored in kerosene whereas phosphorous is stored in air

Question Number : 76 Question Id : 8247246236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247246237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A copper vessel when exposed to humid air for a long time acquires a dull green coating on its outer surface. The green
material is

Options :

1. copper carbonate + copper hydroxide
5 copper carbonate + copper sulphate
3. copper hydroxide + copper sulphate

4. copper sulphate + copper oxide

Question Number : 77 Question Id : 8247246237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247246238 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The activities which are practised to enrich or replenish the soil with nutrients are

Options :

1. crop rotation, deep ploughing, adding manures
5 crop rotation, adding manures, adding fertilizers
3. adding manures, adding fertilizers, irrigation

4. Adding manures, crop rotation, irrigation

Question Number : 78 Question Id : 8247246238 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 8247246239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a set of Rabi crops?

Options :
1 Gram, Mustard. Pea, Wheat

5 Gram, Mustard, Paddy, Soybean
3. Groundnut, Mustard. Pea, Wheat

4 Gram, Maize, Paddy. Wheat

Question Number : 79 Question Id : 8247246239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247246240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A car covers first half of its journey with a speed Uy and the next half with a speed V5 . The average speed of the car
to completes its whole journey is

Options :
vy + 15
1. 2

2 VVil2

VqVy

1?1+ Vo

271 V>

Question Number : 80 Question Id : 8247246240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
v+ Vs
1. 2

5 VU1 V3

V1V;

3. 171+ V2

2V, V5

4 V1t v

Question Number : 81 Question Id : 8247246241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A class VII teacher asks the following question to her students in the class.
“What would happen if you do not get water for a week?”
The question is best suited to

Options :
1 sensitize the learners on judicious use of water.
- promote imagination in learners.

3. assess students’ understanding on sources of water.

4. check the general awareness of students.

Question Number : 81 Question Id : 8247246241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247246242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements about ‘Law’ in science and choose
the incorrect option.

Options :
1. A ‘Law’ in science can be changed or replaced after extensive research
> A ‘Law’ is science in factual, predictive and unchanging

3. A ‘Law’is science is a universally observable fact

4 A ‘Law’is science has no explanation or exceptions when it is framed.

Question Number : 82 Question Id : 8247246242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 8247246243 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The following activity is done in science class.
Students are given batteries, bulb, connecting wires and variety of materials like paper, nails, paperclips, wood, water,
lemon juice and asked to design an experiment to investigate the relationship between nature of the material and
conduction of electricity. Which of the following process skills can be promoted in this activity?

A. Observation

B. Classification

C. Measurement

D. Formulating hypothesis

E. Defining operationally

Options:
1. AEC
> B,.C.D

3 E.D.B

4 AD.B



Question Number : 83 Question Id : 8247246243 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o 31 T B FRer g Tl T 36 T
oo b, g e T e e B e e
1 1 3T 9 T T WIS o T 8 6l 01 TGI8 3 o T 1 ] e e 1
T Y
FETerTe 3 8 F19-9 W52 197 281 39 A T g o)
A, S
B. e
C. 91
D, P 1 7 7 71
E. Vit 4 & oA e
Options :
AE,C

1

, B.C,D

A D, B

Question Number : 84 Question Id : 8247246244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a descriptor of inquiry teaching in science?
Options :

1. Teacher encourages children to investigate their own ideas.

5 Teacher encourages children to challenge each other’s conceptualisation.



3. Teacher insists on developing conclusions based on evidence.

4. Teacher provides the steps for conducting an experiment.

Question Number : 84 Question Id : 8247246244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247246245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assertion (A) — Gender plays an important role in achievement in science.
Reason (R) — The information processing strategies are different for girls and boys

Which of the following is correct?

Options :

1 (A) is correct and (R) is correct explanation for (A).



5 (A) is correct but (R) is not a correct explanation for (A).
3 (A) is incorrect but (R) is correct.

4. Both (A) and (R) are incorrect.

Question Number : 85 Question Id : 8247246245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247246246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Research has indicated that children come to the classroom with ideas about science concepts which may be different
from science ideas.

Which of the following is Not a characteristic of these alternate conceptions?
Options :
1. They are stable.



o They are easy to change.
3 They are influenced by observable phenomena.

4 They trend to follow similar patterns of development.

Question Number : 86 Question Id : 8247246246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247246247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A student puts red litmus paper into slaked lime solution and writes the following statements in her copy.
A- red litmus turns blue

B- slaked lime is basic in nature
C- red litmus turns blue in a base

Which of the following statements is correct
Options :

1 A and B are observations: C is an inference
2 C is observation; B and C are inferences
3 A, B. C are observations

4 A, Care observations; B is inference

Question Number : 87 Question Id : 8247246247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 8247246248 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions can be considered as open ended questions(s)?
A. Why potato is a stem?
B. What happens to time period of simple pendulum if length is doubled?
C. What are the differences between stem of a rose plant and tulsi plant?
D. What would happen if all the petroleum reserves on earth are exhausted?

Options :
1. Aand D

2. AandC

3 OnlyB

4 OunlyD

Question Number : 88 Question Id : 8247246248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 8247246249 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Creativity in science can be best assessed by
Options :

1. Olympiads

2. Exhibitions

3. Annual exams

4. Slogan competitions

Question Number : 89 Question Id : 8247246249 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247246250 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option

Assertion (A) - A science teacher should use differentiated assessment strategies in an inclusive classroom
Reason (R1) - Yes, as it gives opportunities to all students to express their understanding of concepts as per their
abilities

Reason (R2) - No, as it gives rise to issues of parity and subjectivity

Options:

1 (A) is correct and (R1) is correct explanation of (A)
2 (A) Is incorrect and (R2) is correct
3 (A) is correct but (R1) is not correct explanation for (A)

4 (A) is incorrect but (R2) is not correct

Question Number : 90 Question Id : 8247246250 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

1. Waccines work by training and preparing the body’s natural
defences — the immune system — to recognize and fight off
the viruses and bacteria they target. After vaccination, if the
body is later exposed to those disease-causing germs. the
body is immediately ready to destroy them. preventing
illness. As of 3 June 2021, WHO has evaluated that a
number of vaccines against COVID-19 have met the
necessary criteria for safety and efficacy: AstraZeneca,
Pfizer etc.

Some national regulators have also assessed other COVID-
19 wvaccine products for use in their countries. Waccines
provide a high degree of protection against getting seriously
ill and dwving from the disease, although no vaccine is 100%%
effective.

I3

. The COVID-19 vaccines are safe for most people 18 years
and older, including those with pre-existing conditions of
any kind, like auto-immune disorders, hypertension,
diabetes, asthma., pulmonary, liver and kidney disease, as
well as chronic infections that are stable and controlled.
Children and adolescents tend to have milder infection as
compared to adults, so unless they are part of a group at
higher risk of severe COWVID-19, it is less urgent to
vaccinate them than older people. More evidence is needed
on use of different COWVID-19 vaccines in children. Vaccine
trials for children are ongoing and WHO will update its
recommendations when the evidence or epidemiological
situation warrants a change in policy.

3. After vaccination. in most cases, minor side effects: Arm
soreness, Mild fever, Tiredness, Headaches, Muscle or joint
aches, indicate that a person’s body is building protection
to COVID-19 infection. Contact vour care provider if there
is redness or tender ness (pain) where you got the shot
increases after 24 hours, or if side effects do not go away
after a COVID-19 vaccine, vou should not receive
additional doses of the vaccine. It’s extremely rare for
severe health reactions to be directly caused by vaccines.
Taking painkillers such as paracetamol before receiving the
COVID-19 vaccine to prevent side-effects is not
recommended. This is because it is not known how
painkillers may affect how the vaccine works. However,
you may take paracetamol or other painkillers if vou do
develop side effects such as pain, fever, headache, or muscle
aches after vaccination.

4. Ewven after yvou’'re vaccinated, keep taking precautions —

While a COVID-19 waccine will prevent serious illness and

death, we still don’t know the extent to which it keeps vou

from being infected and passing the virus on to others.

Sub questions

Question Number : 91 Question Id : 8247246252 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justifv why one should get
vaccinated.

Assertion (A): After vaccination the immune system
recognizes and fights off the viruses and bacteria they
target.

Reasoning (R): Vaccines work by training and preparing the
body’s natural defences — the immune system — to
recognize and fight off the viruses and bacteria they target.

1. Both A and R are true and R is not the correct
explanation of A

Both A and R are true and R is the correct
explanation of A

3. Aistrue but R is false

4. Als false but R is true

bd

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247246253 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to WHO:
“No vaccine is 100% protective but they have met the
necessary criteria for efficacy”. How is it s0?

WHO has evaluated and recommended the vaccine.
National regulators have assessed the vaccine.

The vaccine has been found to protect against getting
seriously ill or dying.

4. The vaccine has been found to give complete
protection against the disease.

L R

Options :
1.1
2.2
3.3
4.4



Question Number : 93 Question Id : 8247246254 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which is opposite in meaning to the word
“‘chronic™ as used in the passage.

acute
terminable
curable
incurable

o bl o

g

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247246255 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

a) Vaccine is not recommended for children because
they have milder infection.
b) Vaccines are safe for all people 18 years and older.

. (a) is true and (b) is false
. (b) is true and (a) is false
Both (a) and (b) are true
Both (a) and (b) are false

L ba —

o

Options :
1.1
2.2
3.3
4.4



Question Number : 95 Question Id : 8247246256 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are 4 real life situations pertaining to COVID-
19 pandemic. Choose the option which perfectly describes
“‘a high risk group™ according to WHO.

A B e D
Asvmptomatic | Children Adults with | Very voung
children and with pre- pre-existing | children
adults who can | existing conditions, | whether
easily spread | conditions, | auto- with or
the disease far | auto- Immune without
and wide immune disorders, pre-

disorders and chronic | existing
and chronic | infections conditions
diseases of any kind
1. A&C
2 B&C
3. €&D
4. A&B
Options:
1.1
2.2
3.3
4.4

: MCQ Option Shuffling : No Is

Question Number : 96 Question Id : 8247246257 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:

a) After vaccination a person has a great chance of
infection.

b) The minor side effects indicate that a person’s body
is building protection.

c) COVID-19 infection is rare among children.

. (a), (b) and (c) are all true.

. (a). (b) and (c) are all false.

. (a) is false and (b) and (c) are true.

. (a) and (b) are true while (c) is false.

L [ —

o

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247246258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are 4 situations where the second shot of
COVID-19 vaccination should not be administered. Choose
the option which perfectly describes such a situation.

A B C D
Immediate | Post There are | Redness/tenderness
severe vaccination | no side (pain) where you
allergic side effects | effects like | got the shot keeps
reaction to | go away fever, body | on increasing.

a first after a few | ache and
dose of days tiredness
the after
COVID- vaccination
19
vaccine

1. AandB are true

2. Band C are true

3. AandD are true

4. CandD are true

Options :



1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247246259 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words means the same as
‘evaluated’ (para 1)?

indicated
assessed
described
revealed

W

i

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247246260 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘and fights off the virus’.
The underlined word is a/an

Adjective
Adverb
Preposition
Conjunction

W -

i

Options :
1.1
2.2
3.3



4.4

Question Id : 8247246251 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

1. Waccines work by training and preparing the body’s natural
defences — the immune system — to recognize and fight off
the viruses and bacteria they target. After vaccination, if the
body is later exposed to those disease-causing germs, the
body is immediately ready to destroy them, preventing
illness. As of 3 June 2021, WHO has evaluated that a
number of vaccines against COVID-19 have met the
necessary criteria for safety and efficacy: AstraZeneca,
Pfizer etc.

Some national regulators have also assessed other COVID-
19 vaccine products for use in their countries. Vaccines
provide a high degree of protection against getting seriously
ill and dving from the disease. although no vaccine is 100%%
effective.

Id

. The COWVID-19 vaccines are safe for most people 18 vears
and older, including those with pre-existing conditions of
any kind, like auto-immune disorders, hypertension,
diabetes, asthma., pulmonary, liver and kidney disease, as
well as chronic infections that are stable and controlled.
Children and adolescents tend to have milder infection as
compared to adults, so unless they are part of a group at
higher risk of severe COWVID-19, it is less urgent to
vaccinate them than older people. More evidence is needed
on use of different COWVID-19 vaccines in children. Vaccine
trials for children are ongoing and WHO will update its
recommendations when the evidence or epidemiological
situation warrants a change in policy.

3. After vaccination, in most cases, minor side effects: Arm
soreness, Mild fever, Tiredness, Headaches, Muscle or joint
aches, indicate that a person’s body is building protection
to COVID-19 infection. Contact your care provider if there
is redness or tender ness (pain) where you got the shot
increases after 24 hours, or if side effects do not go away
after a COVID-19 vaccine, yvou should not receive
additional doses of the vaccine. It’s extremely rare for
severe health reactions to be directly caused by vaccines.
Taking painkillers such as paracetamol before receiving the
COWVID-19 vaccine to prevent side-effects is not
recommended. This is because it is not known how
painkillers may affect how the vaccine works. However,
you may take paracetamol or other painkillers if vou do
develop side effects such as pain, fever, headache, or muscle
aches after vaccination.

4. Even after vou’re vaccinated. keep taking precautions —

While a COVID-19 vaccine will prevent serious illness and

death. we still don’t know the extent to which it keeps vou

from being infected and passing the virus on to others.



Sub questions

Question Number : 91 Question Id : 8247246252 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the correct option to justifv why one should get
vaccinated.

Assertion (A): After vaccination the immune system
recognizes and fights off the viruses and bacteria they
target.

Reasoning (R): Vaccines work by training and preparing the
body’s natural defences — the immune svstem — to
recognize and fight off the viruses and bacteria they target.

1. Both A and R are true and R is not the correct
explanation of A

Both A and R are true and R is the correct
explanation of A

3. Ais true but R is false

4. A s false but R is true

[

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247246253 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to WHO:
“No vaccine is 100% protective but they have met the
necessary criteria for efficacy”. How is it so?

WHO has evaluated and recommended the vaccine.
National regulators have assessed the vaccine.

The vaccine has been found to protect against getting
seriously ill or dying.

4. The vaccine has been found to give complete
protection against the disease.

L b =



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247246254 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which is opposite in meaning to the word
“‘chronic™ as used in the passage.

acute
terminable
curable
incurable

ot bt

g

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247246255 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

a) Vaccine is not recommended for children because
they have milder infection.
b) Vaccines are safe for all people 18 years and older.

. (a) is true and (b) is false
. (b) is true and (a) is false
Both (a) and (b) are true
Both (a) and (b) are false

L ba —

o

Options:



1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247246256 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are 4 real life situations pertaining to COVID-
19 pandemic. Choose the option which perfectly describes
“*a high risk group™ according to WHO.

A B & D
Asvmptomatic | Children Adults with | Very voung
children and with pre- pre-existing | children
adults who can | existing conditions, | whether
easily spread | conditions, | auto- with or
the disease far | auto- immune without
and wide immune disorders, pre-

disorders and chronic | existing
and chronic | infections conditions
diseases of any kind
1. A&C
2 B&C
3. C&D
4. A&B
Options:
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247246257 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:

a) After vaccination a person has a great chance of
infection.

b) The minor side effects indicate that a person’s body
is building protection.

c) COVID-19 infection is rare among children.

. (a), (b) and (c) are all true.

. (a). (b) and (c) are all false.

. (a) is false and (b) and (c) are true.

. (a) and (b) are true while (c) is false.

L [ —

o

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247246258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are 4 situations where the second shot of
COVID-19 vaccination should not be administered. Choose
the option which perfectly describes such a situation.

A B C D
Immediate | Post There are | Redness/tenderness
severe vaccination | no side (pain) where you
allergic side effects | effects like | got the shot keeps
reaction to | go away fever, body | on increasing.

a first after a few | ache and
dose of days tiredness
the after
COVID- vaccination
19
vaccine

1. AandB are true

2. Band C are true

3. AandD are true

4. CandD are true

Options :



1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247246259 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words means the same as
‘evaluated’ (para 1)?

indicated
assessed
described
revealed

W

i

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247246260 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘and fights off the virus’.
The underlined word is a/an

Adjective
Adverb
Preposition
Conjunction

W -

i

Options :
1.1
2.2
3.3



4.4

Sub-Section Number : 2
Sub-Section Id : 824724339
Question Shuffling Allowed : Yes

Question Id : 8247246261 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

POEM
The Grass Is Like Me

You know, the grass is like me

Its true nature revealed

When trodden under foot

But when drenched

Does it bear witness

To burning disgrace

Or blazing fury?

Yes, the grass is like me

It lifts its head

Ounly to be continually sheared

Into flat velvet by the frenzied machine.
How many ways do you have to flatten a woman?
But the earth

And women continue to rise up.

If you ask me , you had the right idea

A foot path was spot on

Those who can’t endure

Are patched down into the scorched earth

Merely straw

A path for the oppressors
Not grass

You know, grass is like me

Sub questions

Question Number : 100 Question Id : 8247246262 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In which mood does the poem conclude?

Gloomy
Cynical
Defiant
Reflective

o bad e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247246263 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who. according to the poem, would yvou associate with the
‘oppressors’?

Ignorant men
Autocrats
Submissive women
Patriarchy

e oo

il

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247246264 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poem’s promise lies in —

regeneration
vilification
revolutionary violence
compliance

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247246265 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What literary devices does the titular name include?

Refrain and metonymy
Metaphor and conceit
Refrain and simile
Simile and apostrophe

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247246266 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘It lifts its head”.
Which of the statements given below is true in the light of
this?

Grass grows up again.
Grass is personified.

It is a fallacy.

Grass is used as a metaphor.

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247246267 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which category of women does the poet refer to in “those
who can’t endure, are patched down...”?

Feminists

Women with voice
Dominant
Subservient

ot bt

e

Options :
1.1
2.2
3.3
4.4

Question Id : 8247246261 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



POEM
The Grass Is Like Me

You know, the grass is like me

Its true nature revealed

When trodden under foot

But when drenched

Does it bear witness

To burning disgrace

Or blazing fury?

Yes, the grass is like me

It lifts its head

Ounly to be continually sheared

Into flat velvet by the frenzied machine.
How many ways do you have to flatten a woman?
But the earth

And women continue to rise up.

If you ask me , you had the right idea

A foot path was spot on

Those who can’t endure

Are patched down into the scorched earth

Merely straw

A path for the oppressors
Not grass

You know, grass is like me

Sub questions

Question Number : 100 Question Id : 8247246262 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which mood does the poem conclude?

Gloomy
Cynical
Defiant
Reflective

W -

e

Options :
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 8247246263 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who, according to the poem, would you associate with the
‘oppressors’?

Ignorant men
Autocrats
Submissive women
Patriarchy

o bl o

g

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247246264 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poem’s promise lies in —

regeneration
vilification
revolutionary violence
compliance

Lot e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247246265 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What literary devices does the titular name include?

Refrain and metonymy
Metaphor and conceit
Refrain and simile
Simile and apostrophe

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247246266 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘It lifts its head’.
Which of the statements given below is true in the light of
this?

Grass grows up again.
Grass is personified.

It is a fallacy.

Grass is used as a metaphor.

L R O R

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247246267 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which category of women does the poet refer to in “those
who can’t endure. are patched down...”?

Feminists

Women with voice
Dominant
Subservient

ol o

g

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724340

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247246268 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom, if a teacher writes a topic on the board and asks the students to help him organise related words and
concepts in cluster around the central topic. What is the teacher doing?

l. Word mapping
2. Brainstorming
3. Free-association
4. Quick writing

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247246268 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In a classroom, if a teacher writes a topic on the board and asks the students to help him organise related words and
concepts in cluster around the central topic. What is the teacher doing?

l. Word mapping
2. Brainstorming
3. Free-association
4. Quick writing

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247246269 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the primary classes, it is recommended that children should be taught in their mother tongue because

it enables children to comprehend well.
it promotes regional languages.

it is easy to teach in.

it helps to manage the class well.

P Gd D

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247246269 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the primary classes, it is recommended that children should be taught in their mother tongue because

it enables children to comprehend well.
it promotes regional languages.

it is easy to teach in.

it helps to manage the class well.

g 0 P e

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247246270 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Communicative Competence is a subset of functional grammar and its approach in teaching will allow students to

. leam structures and use them accurately.

2. use structures in a range of output texts.

3. learn grammar through meaningful communication.

4. enable teachers to expose students to grammar in the lower classes.

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247246270 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Communicative Competence is a subset of functional grammar and its approach in teaching will allow students to

L. learn structures and use them accurately.

2. use structures in a range of output texts.

3. learn grammar through meaningful communication.

4. enable teachers to expose students to grammar in the lower classes.



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247246271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Subhash has the ability to think and talk about languages. so he has

multi-linguistic awareness
phonemic awareness
symbolic awareness
perceptual skill

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247246271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Subhash has the ability to think and talk about languages. so he has

multi-linguistic awareness
phonemic awareness
symbolic awareness
perceptual skill

Shlerud e

e

Options :
1.1
2.2
3.3



4.4

Question Number : 110 Question Id : 8247246272 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A paragraph in English will be considered good if it

is in descriptive language

is written in good handwriting
has correct punctuation
presents ideas in coherent way

e v

s

Options:
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247246272 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A paragraph in English will be considered good if it

is in descriptive language

is written in good handwriting
has correct punctuation
presents ideas in coherent way

el v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247246273 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Identify the principles of cooperative language learning.

I. Positive interdependence, group formation, individual accountability and social skills
2. Positive dependence, group formation, individual accountability and social skills
3. Positive intradependence, group formation, group accountability and social skills
4. Positive intradependence, group formation, social accountability and social skills

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247246273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the principles of cooperative language learning.

I. Positive interdependence, group formation, individual accountability and social skills
2. Positive dependence, group formation, individual accountability and social skills
3. Positive intradependence, group formation, group accountability and social skills
4. Positive intradependence, group formation, social accountability and social skills

Options:
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247246274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



“Language is people; language is person in contact; language is person in response”. This idea refers to

interactional view
cognitive view
genre view

4. behaviouristic view

et

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247246274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Language is people; language is person in contact; language is person in response”. This idea refers to

interactional view
cognitive view
genre view

4. behaviouristic view

et

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247246275 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Scanning is a reading activity which helps learners to

I. draw out the desired information

2. enrich their vocabulary

3. develop competence in linguistic items
4. know meaning of words



Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247246275 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Scanning is a reading activity which helps learners to

I. draw out the desired information

2. enrich their vocabulary

3. develop competence in linguistic items
. know meaning of words

o

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247246276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following models puts main emphasis over semantic and communicative dimensions rather than
grammatical characteristics of language?

. Structural Model
. Cognitive Model
. Genre Model

. Functional Mode]

e —

.

Options :
1.1
2.2
3.3



4.4

Question Number : 114 Question Id : 8247246276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following models puts main emphasis over semantic and communicative dimensions rather than
grammatical characteristics of language?

. Structural Model
. Cognitive Model
. Genre Model

. Functional Mode]

bl Pd —

=

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247246277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the statement Aand B
(A) Teacher should be silent as much as possible in classroom and leaners should be encouraged to produce as
much language as possible.
(B) Colour charts and coloured Cuisenaire rods should be used to elicit proper pronunciation.
These are the premises of

. Suggestopedia

. Silent way

. Laxical Approach
. Natural Approach

de e b —

Options :
1.1
2.2
3.3
4.4



Question Number : 115 Question Id : 8247246277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the statement Aand B
(A) Teacher should be silent as much as possible in classroom and leaners should be encouraged to produce as
much language as possible.
(B) Colour charts and coloured Cuisenaire rods should be used to elicit proper pronunciation.
These are the premises of

. Suggestopedia

. Silent way

. Laxical Approach
. Natural Approach

de e b —

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247246278 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ACEOQ of a company calls the sales manager and handover a rule book to be circulated in his/her own department.
What is this known as?

|. Horizontal Communication
2. Vertical Communication
3. Spiral Communication

4. Diagonal Communication

Options :
1.1
2.2
3.3
4.4



Question Number : 116 Question Id : 8247246278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ACEO of a company calls the sales manager and handover a rule book to be circulated in his/her own department.
What is this known as?

|. Horizontal Communication
2. Vertical Communication
3. Spiral Communication

4. Diagonal Communication

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247246279 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Being a culturally responsive teacher essentially requires
A: He/She should consider students’ culture as an asset.
B: He/She should support learning environment based on creative learning approach.

A isright.

B is right.

Both A and B are right.
Both A and B are wrong.

L 2 =

i

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247246279 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Being a culturally responsive teacher essentially requires
A: He/She should consider students’ culture as an asset.
B: He/She should support learning environment based on creative learning approach.

A s right.

B is right.

Both A and B are right.
Both A and B are wrong.

L pd =

e

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247246280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a teacher is to rate each part of the student’s product or process then which type of tool will be effective?

I. Checklist

2. Holistic Rubrics
3. Analytical Rubrics
4. Schedule

Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247246280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If a teacher is to rate each part of the student’s product or process then which type of tool will be effective?

I. Checklist

2. Holistic Rubrics
3. Analytical Rubrics
4. Schedule

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247246281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The knowledge that one has about one’s processes of thinking and the ability to monitor thought processes is known as?

[ Symbolism
2. Scaffolding
3. Metacognition
4. Conservation

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247246281 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The knowledge that one has about one’s processes of thinking and the ability to monitor thought processes is known as?

[ Symbolism
2. Scaffolding
3. Metacognition
4. Conservation

Options :



1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247246282 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher of class VIII selected a passage from a newspaper and dropped every fifth word to be filled by her learners for
their unit test. What typology question does this come under?

. Grammar question

2. Cloze question

3. Fill in the blanks

4. Reading comprehension

Options:
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247246282 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Atteacher of class VIII selected a passage from a newspaper and dropped every fifth word to be filled by her learners for
their unit test. What typology question does this come under?

. Grammar question

2. Cloze question

3. Fill in the blanks

4. Reading comprehension

Options :
1.1
2.2
3.3
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Language II
Section Id : 824724179
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 824724341
Question Shuffling Allowed : Yes

Question Id : 8247246283 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 8247246284 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R i

UfeTReT ST HTST o 2TY T STHET AT 4T 2
)
(i) =R
(111) ‘ﬂ'll'l"ilﬁ
(1v) W‘G’&

Options:

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247246285 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ot “ITeT = <TG ST 274 (TR I 2)
(i)  =hrwol
(i) TSt
(iii) =3
(1v) HAdTAHq
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247246286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g?gkhidq:fﬁaﬁ%ﬂﬂtﬁﬂlﬂl%?
(i) =TEI o g
(i) 3T UeeR FEHT
(iii) 3=z T
(iv) U F FEH

Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 8247246287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



o e T ERM .Y
Ui TR W TR ST T

(i) g
(i) == 4

(iii) o=
(iv) ToerEmH =TT

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 8247246288 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
et o el B e 3 e S e am
(i) T TG
(ii) EITRETE! Fa
(ili) @A T
(iv) Z2rHfd rEmT s=ar

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247246289 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FaaT 5 2 A w2
(i) TERFEFARE
(ii) ﬂﬁé%ﬁcﬁmrmm T
(i) FTEFTTRE
(iv) gsi%%ﬁ?m& AT e

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247246290 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ﬂﬁﬁ — |

(i) AFHa==
(i) = =T
(ii1) IR
(iv) TOTET=ER

Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 8247246291 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T2 T @it 6% -
(iy femam
(i) Teremor
(iii) =
(iv) HaaH
Options :
1.1
2.2
3.3

4.4

Question Id : 8247246283 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 8247246284 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

UfeTthar T uwxﬁﬁ'% 219 T STHeAT A9 1 0
(i) ufereer
(ii) =g
(iii) =R
(iv) W@:ﬁ'
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247246285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e et o STRTGET 3T g (waﬁa?rw%}
(i)  ohTeROlT
(i) TR
(iii) =S
(1v) HAITAHq
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247246286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



(i) =1 A
(i) 3T UeeR FEHT
(ili) FedmHz
(iv) UEH & FTH
Options :
1.1
2.2
3.3

4.4

Question Number : 124 Question Id : 8247246287 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Y Y 4 S i
e SRl l\:lp‘khld?-ITEHT ELEEREIEIE I

(i) gemteEr A
(i) ==m+

(i) ST
(iv) ToEmEmrF T=Te
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 8247246288 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



it o et o o e e
(i) TEwe T
(ii) ATRETE! T
(i) @I AT

: L ™
(1v) Z2T HIF STERT SAdM]
L= L=

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247246289 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

CLEI ﬁ%& H{\m FEr B0
(i) TERFTFARE
(i1) gﬁé:’cﬁxﬂ?mrmm T
(i) HEEF TR W
(iv) gﬂﬁ%?m& AT AT

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247246290 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



(i) AR
(i) SR
(iil) HIIIT=H
(iv) ToETEE

Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 8247246291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
GYTaT HET 5 TEiiohd ITeg B
(i) e
(i) Teremoor
(iii) =T
(1V) L CLiC]
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 824724342

Question Shuffling Allowed : Yes

Question Id : 8247246292 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension

RS aﬁ'{,iuhm$mt| T =ohT HﬁTEUWJET%lW%ﬁTﬁ?TH
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Sub questions

Question Number : 129 Question Id : 8247246293 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
*u?%?m':rﬁlﬁﬁHgta T AT T T T T oy
z-

(i) =T TN TR

(i) =TT A T SATEvERaTel 1 gid % o

T OF T B
(iii) T TET FTAT 2
(iv) T AT H ST H o el 41

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 8247246294 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST 3 7 i o ST it o & -
(i)  TTaoT % UROTHT 1 3; A W U B
(i) Ew0T HeA F
(ili) ST & e & £
(iv) TEEVT 3 TG FRF 7

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 8247246295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
o7 I T T H TE B 22

(i) =S

(i) =ar=ar

(iii) TETREE

(1v) =T
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 8247246296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TN 297 H 99 JEIcqd 74T 14T 2-
(i) UEEEEE
(ii) T T F BRI
(ili) T F TEed T T F RO
(iv) TEERRT STTEST BN % HE

Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 8247246297 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IUFIAET 9168 9 duH'T%n
(i) =9
(i) 31
(iii) fmar
(iv) =T
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247246298 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T FHTE" § YT 3TeT 2-
(i) ==
(i) HEH
(i) AR
(iv) Tesmor
Options :
1.1
2.2
3.3

4.4

Question Number : 135 Question Id : 8247246299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSt 7 TAT H T TR T4T 2 FHE-
(i)  US-UTe gt i TR @ 2
(i)  US-UTer STATSROT 1 ST W@ B
(iii) 7 AU Tt ATFTIFaTe] % 0 T/
TS BT T US-GHT O 947 2
(iv) ﬁ@ﬁiﬂﬁﬂiﬁf‘ﬁ;ﬁml T qﬁ; Fd 2|

Options :
1.1
2.2
3.3
4.4

Question Id : 8247246292 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 8247246293 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks: 0
Tl ShT T8 = TS 5 FeIAl T (S A e Y
-

(i) = T T

(i) AT AU T SATETIRATSAT I O (o

TR UF T B
(iii) ST HaT =TT T
(iv) TS ST 5 ST H JT HaT o)

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 8247246294 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

ST 35 g g et o S it o 7 & i
(i) ST o TROITE 3T A W U
(i) STEOT AT B
(iii) @wﬁﬁm%ﬁﬁl
(iv) TSSO 3 T I F

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 8247246295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
I | =9 FTIH FE AT 22

(i) =S

(il) Zam=am

(iii) TR

(1v) =T
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 8247246296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TN 297 H 99 JEIcqd 74T 14T 2-
(i) UEEEEE
(ii) T T F BRI
(ili) T F TEed T T F RO
(iv) TEERRT STTEST BN % HE

Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 8247246297 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IUFIAET 9168 9 duH'T%n
(i) =9
(i) 31
(iii) fmar
(iv) =T
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247246298 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T FHTE" § YT 3TeT 2-
(i) ==
(i) HEH
(i) AR
(iv) Tesmor
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 8247246299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
US-TTeI ST eI F Y FERT T 2 -
(i)  US-UTe gt i TR @ 2
(i)  US-UTer STATSROT 1 ST W@ B
(iil) =9 o T STTETIERATeT % T weae/
AT T G U wT i F)
(iv) U9 aivesT Al ot o 9hg Fd

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724343

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 8247246300 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

fAtefias o & Fiw-Et s it vep fomrear 78 22
(i)  wTeT aEr=a B
(i) e e 2

(iii) ST TR SATHAT U AT 2Tt 2
(iv) —TST % ST AR HEn geTT SFaen 2
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 8247246300 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frferfaa o & -t v 7 v fowrear 78 22
(i) wTT AR =TF 2
(i) oo e 2

(i) TST AT SATHAT UL AT B 2
(iv) THT U5 ATSa 7R HiE 57 Faer 2
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 8247246301 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



fo Wit 5 7 A o o e e < o 1 7 o 92 T T R A
(i) TR e e

(i) T T
(iti) T vt
(iv)  FTNTRTFe G e
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 8247246301 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T v ﬁa'e:uoﬁanr%m e T o & e 3 9 o R R e R IR

(i) ST SR Wi
(i) T T
(i) v e
(1v) FRTETES: G Wi
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 8247246302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T USf 1 fo=m forer Wt I wiatena ey 919 27T
(i) 379 == T g
(i) 7eH *79 v fogial
(iii) = & 37 s feveo
(iv) 3Ta & 3T3Ta 7T fereqon|

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 8247246302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A o

TET WINT U1 1 9= Toreer e 3 UTaianaT ¥y 916 3T
(i) 379 <77 uaA fogral
(i) 72w *19 v fogral
(iii) T & T AT fereon
(iv) T § T AT e

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 8247246303 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A Vil 1 T ATt ST 3 7 QT 1 € <5 3 ), S A 21,
T ST 37 A7 3 .81 R 40 27
(i) ST S
(i) e o e
(ili)  FETF |
(1v) e faves o)
Options :
1.1
2.2
3.3

4.4

Question Number : 139 Question Id : 8247246303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT Vi e v o T3 3 e 0 o A 0 ), ST < T A 21,
T ST 37 7 3 .81 R 40 27
(i) ST S
(i) e o s
(i) - SR ST
(1v) T s
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247246304 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T 0 3 forenffar 1 v At A v R R R R e R S et R E R E
(i) s e & weitem
(ii) T 74|
(i) 7 F T @ T A T
(1v) TEMTeHs @ 74|
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247246304 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T I e B U W o U S TS R § T A W T 2, 96 H e €
(i) e e & wetis o
(il) T 74|
(i) T F TR @ T A T
(v) T o1& 74|
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247246305 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A ¥R T T T T F-

H- SRS WTHT oTsareTt s AT & ST STeere fawa o fom o 2
- STEHTETH WTHT % & T ST, TIeaTae! 37 WToT o |t farw &t o famat 2
) AT
i) TEd
i) o AR TS R
iv) o I T B

(
(
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247246305 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A ¥R T T T T F-

H- SRS WTHT oTsareTt s AT & ST STeere fawa o fom o 2
- STEHTETH WTHT % & T ST, TIeaTae! 37 WToT o |t farw &t o famat 2
) AT
i) TEd
i) o AR TS R
iv) o I T B

(
(
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247246306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
= =y T e 25 = T TEETeT 22
(1) (:1;'!:431_1' T
(i) == T HI
(ili) T F F
(iv) T =1 v

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247246306 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o oy o weaT 25 & T ot 22
(i) T

(i) STe T B
(iii) U@ =1 A
(iv) T =1 v

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247246307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



efett T T A1 <P 36 o P o @ T W oAt e
(i) T8 ST T STHIGAT ST 7Y o ST TSl T A
(ii) T Ee o o Toe 3T smmeptaan, st = faret <t s &)
(iii) TG FT TET STFMT A
(iv) TTETE % ATSTH ¥ TEd ST |

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247246307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ToFefl TaF T 261 T 3 T T oA e o § 3T a7 303 27
(i) =787 o7 T STFAAT ST ST 3 &1 HaeT T A
(ii) T S o o e 3T smaptran, someeer o foare <t e |
(iii) TTEAYEE T T AT FHA
(iv) *TTETE % H155 | e TR T

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247246308 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T HUST 3 (AT U T 5 19 W S TRl ST = 9
(i) AT s AT - el

(i) G = T

(iii) T AT Fr =

o nl.‘"x‘T

(iv) ﬂﬂ:ii T 3T TR S HTHTSIER AT
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247246308 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSI HUET 36 i-%-iu_ TR S T ST UT T ﬁ%mar%rr ar1?
(i) T ATt AT WS- ST feufd|
(i) F AT
(111) tjn-'l:l T T &)

(v) T AT i i e A

Options :

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247246309 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T ¥ G T S S () 3 A S e T
(i) e = o ST
(i) T E AT S ST 7 A nEd e F [T T % Y16l 1 HA|
(ili) % FETTETE 1 T A 2
(iv) == et 1 T WT9T & T90 99 S11Hd F 2

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247246309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Wwﬁ@ﬁwﬂw (ZFEETES) % & T e AR
(i) e % o Sam
(i) T E aTe S AT o feAfen et 3 faf wamett 3 wreet s faa
(ili) % FEHTTETE 1 T A 2
(iv) 7% Taenfiat &t vk 9TeT o T4 9% S Fa 2

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247246310 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Rl 7 5 T vt o A A ) 8 6 e 2 6 T A0 R 6 R )
(a) ST O e S e
(b) e e 51 ot 4 T S
(c) 37 e 3 o7 V1 T o e foeam
(d) % e o Fresrerfcan 7 ifes e
() a.b&d
(i) a,c&d
(i) b, c&d
(v) b.c&d

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247246310 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R 5 5 e W Y e e ) 8 e 6 e 9 5 S S )
(a) ST O e g e

(b) e 2 1 et 1 e T

(c) 3% 4T 3 o ¥} T ey P

(d) 3% e o Fresrerfea 7 ifes e

() a,b&d

(i) a,c&d

(i) b,c&d

(iv) b,c&d

Options :
1.1
2.2
3.3
4.4



Question Number : 147 Question Id : 8247246311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 7T T Frgnef ot S e o | e 4 e 9 7 3 0
TR s | evertan & @ 7% foen ST 27

(i) wfarm
(ii) e fufamm
(i) & e
(iv) 79 1 fam

Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 8247246311 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T T 3 T T Ut T T A o | e 1 ST 38 07 3 00l %
T & | AT § ¥ ¢ T S )

(i) arefafm

(i) e fafwm

(i) a7 e

(iv) 1 71 fam

Options:

1.1
2.2
3.3
4.4



Question Number : 148 Question Id : 8247246312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁﬂﬁ%ﬁﬁﬁﬁmﬂﬁwmmﬁwﬁwﬁF?Mmm%ﬁ?&uaq\ﬂfdlﬁmwﬁwﬁ%mww
(i) U S
(i) =
(i) T
(iv) ST

Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247246312 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁﬂﬁﬁ@ﬁﬁﬁ?ﬂﬂﬁwmmﬁwﬂmﬁ ?ﬁ\rmum%&-ﬁ f&uatg\ﬂfmﬁm wsﬁmw ?mpwdwchm
(i) TS
)

(11) 4T
(i) T8
(iv) ST

Options:

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247246313 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

P i 1 T ST T 1 -1 o A G120 97en! 1 5 ST (o0 1 e AT
. AT 4 ST 2] TR 1 T AT e 4T e R 5, AT 1 AR o 1 36
e FUTe for o form ave v v o e v e 2 oY A R )

() vEEnEE
(i) TEEE
(i) FHEFH
i) e

Options:

1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 8247246313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
P i 1 T ST T 1 -1 o A G120 97en! 1 5 ST (o0 1 e AT
. AT 4 ST 2] TR 1 T AT e 4T e R 5, AT 1 AR o 1 36
R P12 Tor 3 form et ) ere o o1 e o AT 9 Tt 0 T )
() vEEnEE
(i) TEEE
(i) TR
(i) TR AT

Options:

1.1

2.2
3.3
4.4



Question Number : 150 Question Id : 8247246314 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
W S -T3reqr o st it form =0 9 ST ST 22
(i) wgwe e
(i) P
(iii) ToT=AT OTEE=ET & T
(iv) a7 ifa F fereqm

Options :

1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247246314 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T 2t <femer = sy s fora =0 7 St et 29

(i) gy fane
(i) PrmTEE

(iti) TTeaT UTgE=ET T W
(iv) T it o frem
Options :
1.1
2.2
3.3
4.4



